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PART A: Grammar and Vocabulary ol s S ben J5
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct Yolowss
choice on your answer sheet. 09 dxiuo G 1D Ao

61- We were going to talk about many different topics in the meeting, ... discussed in
great detail, were they?
1) but few issues were 2) and a few issues were

3) but a few issues 4) and few issues

62- In this book, it is mentioned that Emily Dickinson’s Garden was a place ... great inspiration for her

poems.
1) that she drew 2) by drawing her
3) from which she drew 4) drawn from which

63- Staying at the five-star hotel cost the newly-wed couple, Mary and John, ten thousand dollars while
they were on their honeymoon in London, ...?

1) didn’t it 2) weren’t they

3) don’t they 4) isn’t it

64- My husband and I have moved around a lot, but we’ve never seen a place where people are so ... to
help strangers.

1) complicated 2) grateful

3) willing 4) valuable

65- Thanks to his parents, William has been ... to be responsible for his own life and never interfere in
other people’s lives.

1) cared for 2) brought up

3) looked for 4) worked out

66- We would like to offer you this small gift in ... of all the work you’ve done for us.
1) connection 2) appreciation

3) introduction 4) description

67- Some specialists say that these shellfish provide an excellent food source for some fish, but some
others do not ... such an idea.
1) elicit 2) generate

3) recommend 4) confirm

68- When I walked downstairs, I saw the fire and ... shouted to my wife to leave the house.
1) probably 2) proudly
3) immediately 4) effectively
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

It is less than six hundred years since the first attempt at ...(69)... an English language dictionary was
made. However, the advent of the first dictionary goes even further back in time than that. The Greeks
and the Romans also produced lexical lists such as Appollonius’ glossary of words and phrases ...(70)...
by Homer. From the collapse of Imperial Rome until the end of the Middle Ages, very little development
was going on in all areas of human culture, ...(71)... written language. The “Storehouse for Children or
Clerics,” which was written by the English monk Galfridus Grammaticus and was printed in 1449, can be

...(72)... as the first English dictionary.

69- 1) arranging 2) compiling 3) combining 4) containing

70- 1) which was used 2) it was using 3) that has used 4) that it was used
71- 1) despite 2) throughout 3) rather than 4) including

72- 1) supposed 2) claimed 3) regarded 4) founded

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

PASSAGE 1:

Fast food is usually high in fat and has no nutritional value. However, it is popular for many reasons. It
tastes good and is inexpensive. Best of all, it is an easy way to grab a quick bite when you’re in a hurry.
But in 1986, a group of people wanted to end “fast eating.” They tried to close the first McDonald’s in
Rome. Soon, the group became the Slow Food organization. Since then, Slow Food has grown
internationally and now has over 100,000 members in 132 countries. However, Slow Food was not created
just to protest fast food. It also protests fast life. Group members argue that people do things too quickly
in modern life. This fast-paced life forces people to eat fast food.

One of the goals of Slow Food is to show people that fast life is responsible for bad eating habits. Many
people no longer take the time to prepare meals in the Kkitchen. Instead, they eat packaged and fast food
while working, watching television, and even driving. Slow Food members try to educate people about

healthy eating habits. They hope that people will eat slower, live slower, and take the time to enjoy life.



21
@:ﬁ@ 10 hndo (03 1 7o 3 (o320 (90l 3) 233139 (oges 1) 02359914 gosT

73- What is the best title for the passage?
1) Closing the First McDonald’s 2) The Benefits of Fast Life

3) The Slow Food Movement 4) The Dangers of Fast Food

74- Which of the following is TRUE about fast food, according to the passage?
1) Low in price, low in nutrition, and high in fat
2) High in price, low in nutrition, and low in fat
3) Low in price, low in nutrition, and low in fat

4) High in price, high in nutrition, and low in fat

75- Why has the author mentioned “132 countries” in paragraph 1?
1) To note that 132 countries first supported Slow Food

2) To point out that McDonald’s is in many countries

3) To prove that fast food is popular in many countries

4) To show that Slow Food can be found in many countries

76- The word “protest” in paragraph 1 is closest in meaning to ... .

1) forget 2) discover
3) fight 4) boost
PASSAGE 2:

Social media, magazines, and shop windows bombard people daily with things to buy, and British
consumers are buying more clothes and shoes than ever before. In Britain, the average person spends
more than 1,000 pounds a year on new clothes, which is around four percent of his/her income.

However, a different trend is arising in opposition to consumerism — the “Buy Nothing” movement. The
idea originated in Canada in the early 1990s and then moved to the US, where it became a rejection of the
overspending and overconsumption of Black Friday and Cyber Monday during Thanksgiving weekend.
On Buy Nothing Day, people organize various types of protests and cut up their credit cards. Throughout

the year, Buy Nothing groups organize the exchange and repair of items they already own.
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The trend has now reached influencers on social media who usually share posts of clothing and make-
up that they recommend that people should buy. Some influencers now encourage their viewers not to
buy anything at all for periods as long as a year. Even if you can’t manage a full year without going
shopping, you can participate in the anti-consumerist movement by refusing to buy things you don’t need.
Buy Nothing groups send a clear message to companies that people are no longer willing to accept the

environmental and human cost of overconsumption.

77- What is the primary purpose of the passage?

1) To introduce a movement which is against overconsumption

2) To emphasize the positive role of social media influencers

3) To explain the negative effects of overconsumption on societies

4) To compare two different approaches towards economic growth

78- In which paragraph(s) has the author made a suggestion?
1) paragraph 1
2) paragraph 2
3) paragraph 3

4) paragraph 1 and paragraph 2

79- Why has the author mentioned “influencers” in paragraph 3?

1) To argue that influencers are actually against the Buy Nothing movement

2) To prove that life without social media is impossible nowadays

3) To conclude that influencers are not as effective on people’s lives as some people think

4) To show that the Buy Nothing movement is becoming increasingly popular

80- It can be inferred from the passage that the members of the Buy Nothing movement ... .
1) believe that overconsumption can result in environmental problems

2) are against production and economic growth

3) used to live in Canada and then moved to the US

4) are those who organize various types of protests and cut up their credit cards throughout the year
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